
Statlstlcs 300 Summer 2007
Quiz#7 5:30.7:50 p.m. N"'"' ___-J.:Ll4__
(3 poinls, 2 minutes)

'1. What are th€ appropJiate expressions (formulas) toJ the mean, variance, and slandard
devietien in the context of. Ciscr.te probability diBt.ibution?
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2. For each of the problemc b€low (here and on next page), det.rmine whether a valid probability

dbtribution is described and. if so. oelculat€ lhe m€rn. yadance. and slandard dcviation.

(a) A manufacturer mak€s a produci that can have defect6 in 5 different ways, so some of the
producl will have 0 defec-ls, some 1, 2, 3, tl, or 5 defecta. The manutacturer claims that 82.8% have
0 defecb, 12.8% havo 1, 1.3% hrvc 2, 0.9% hrve 3,o.9. h.v. a, and 0-116 hlye 5 defect3.
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2. (Continued)

(b) Us. thr .€leliv€ frequency in lh. rec€nt past aE e prebability Ciatribulion lor the n.ar futu.€.
Judg* in an ice skating conteat award scores from I th.ough 6for288 conte6tantS.
T6n judg€s awarded a total of 2880 scores in the proportions listed as probabillti6 in the
diBtribution bolow. What are the mean, variance and standard deviation of this distribution?
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3, Larry is sitting in an airport waiting for his son's flight, which will arive in 8 hours. Larry is bor€d,
HE -il! g.! 1? l*&lii! from r cnndy mrchin.. Th. prcportion cf "RED" M&Ms rlxong rll lh. HgS3
mad€ is 3l%. It Larry's t2 M&M8 are a Endom s.l.ctlon ftom lh. populalion of all llt&Ms, whet is lh€
probability tiat his l2 lr&Ms will include exactly 5 RED candi*?
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